M22.2 (mod ]_]_)
blocks | defect matrix blocks | defect matrix
G : 1 1 11 x 10 16 0 4401 = X23,05 ¥19,0
2 0 551 = X5,0, ¥5,0 17 0 4402 = x23,1, 19,1
3 0 992 = X5,1, ¥5,1
4 0 991 = X6,0, ¥6,0 4.G : 18 1 7TX5
5 0 992 = x6,1, ¥6,1 19 0 3521 = X304+, P25+
6 0 1541 = x7,0, 97,0
7 0 1545 = X7.1, 071 3.G: 20 1 7x5
8 0 231, = Xg;o, ©9,0 21 0 198, = X35+ ¥30+
9 0 2315 = X0.1, 0.1 22 0 4621 = X394, P32+
10 0 3851 = X120, £10,0 23 0 4622 = X404+, P33+
11 0 3852 = X12,1, 10,1 24 0 6601 = X41+, P34+
2.G: | 12 1 11 x 10 6.G:| 25 | 0 | 1321 = xa3+, P36+
13 0 | 3081 = X194, P16+ 26=25| 0 | 1322 = X441, P37+
14 0 | 3301 = x22,0, ¥18,0 27 1 7x5
15 0 | 3302 = x22.1, 9181 28 0 | 6602 = x51+,Pa2+
12.G : 29 1 7x5
30 1 7%x5
Block 1: | @10 ®11 @20 ®21 $30 ©31 P10 Pa1 P80 ¥81
11 =x1,0 1 .
Io =x1,1 1
211 = X2,0 1 . 1 .
212 = X2,1 1 1 .
451 = x3,0 1 .
452 = Xx3,1 1 .
453 = X4,0 1 )
454 = X4,1 . 1 .
2101 = XS,O 1 . 1 .
2102 = X8,1 1 . . 1
5601 = X10+ 1 1 1 1 1 1
pvi0 = Lt w31 = 459
pi1 = 1y w40 = 453
w20 = 20; w41 = 494
w21 = 202 wgo = 190,
w30 = 451 wg1 = 1902




Block 12: ®11,0 ¥L11,1 L12,0 ¥P12,1 ¥P13,0 ¥P13,1 P14,0 P14,1  P150 P15,1
101 = x13,0 1 .
102 = x13,1 1 .
103 = x14,0 1 .
104 = x14,1 1 .
961 = X15,0 1 .
962 = X151 . 1 .
1201 = X16,0 1 . 1 .
1202 = X16,1 1 1 . .
2521 = X174+ . . . 1 1
2103 = X21)0 1 1 . 1 . 1 .
2104 = X21,1 1 1 1 1
v11,0 = 10; ©13,1 = 962
p11,1 = 102 Y140 = 64
v120 = 103 w141 = 64g
w121 = 104 w150 = 1264
Y130 = 961 w151 = 1269
Block 18: | 201 w214+ w22+ 23+ P21t
1121 = X24+ 1 . Y20+ = 1121
112, = X25+ 1 . Y214 = 1125
2881 = X26+ 1 . Yo+ = 288;
2885 = xo7+ 1 . P31 = 288,
3201 = X284+ 1 pout+ = 320;
3202 = X29+ . 1
11207 = x31+ 1 1 1 1 1
Block 20: | 26+ a7 P28+ P20+ P31+
421 = X324 1 : Yo+ = 424
901 = X33+ 1 . por+ = 90
902 = X34+ . 1 pogr = 909
2105 = x36+ 1 1 Po94 = 168
2106 = x37+ 1 1 . P314 = 420,
4201 = X384 1
7681 = X42+ 1 1 1 1




Block 27: | ¢35+ @384+ 30+ Pao+  Pait

2401 = X45+ . 1

2522 = X6+ 1 1

2523 = X47+ 1 1 . .

4202 = X48+ 1 |

4203 = x49+ X 1 .

4204 = X504+ | |

7682 = X524+

Block 29: | @431 Qaa+  Past+  Pa6+  Par+

2402 = X353+ 1 1

2405 = X54+ . X .

2883 = X554+ 1 . | '

2885 = X56+ 1 1

6721 = xs57+ '

6724 = x58+ . '

7683 = X59+ 1 1

Block 30: | pust+ a9+ P50+ P51+ Ps2+
2403 = Xs53+17+ 1 1 .

2404 = X5347+ X .
2884 = X55%29+ X
2886 = X56x29+ . X
6722 = X57489+ 1 1 .

6723 = X57x67+ 1 1 1 X

7684 = X59+5+ 1

P35+
P38+
P39+
P40+
P41+

P43+
Paa+
P45+
P46+
P47+

P48+
P49+
P50+
P51+
P52+

72,
180,
240,
348,
420,

48,
48,
240,
2405
672,

192,
240,
2405
288
288,



